Using the distance based definition of a_ hyperbola, find the equation of the hyperbola with foci 0,£12) SCORE: /10 PTS

such that the distances from any point on the hyperbola to the foci differ by 6.
Do NOT solve this problem using symbols in place of the numbers given.

oy D F Yo ForedT =
W+ 04127 -5+ (r-127| =6 é\ SEE ALTERNATE SOLUTION IF ORDER
2

X+ (y+12)° — x> +(y—12)* =16 OF SUBTRACTION WAS REVERSED

e =ser O
48y—36:i12\[x2+y2*24y+144

dy—3=\x’+y? -24y+144 )
16y2 —24y+9=x"+y> —24y+144 | @

15y% =x? 3135J@

2 2

9 135, d

Convert the rectangular equation y =3x — 5 to polar form. Write 7" as function of @, and simplify your answer. SCORE: /4 PTS
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Fill in the blanks.

SCORE: /7PTS

[a] A house has an exposed (straight) beam 25 feet above and parallel to the floor. Two small lamps hang from the ceiling.

There is an arch such that the total distance from orﬁnp to any point on the arch to the other lamp is exactly 18 feet.
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[b] The shape of the graph of the equation 3x% +3x+2y? =2y —1=0 isa/an |E L1 PSE, Q/ )
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[c] The shape of the graph of the equation 4x2 +2x-3y* =3y-1=0isa/an %‘ bd

=1L RO) A

O

§ |
i 8T

[f] The polar co-ordinates (5, 37Y refer to the same point as the polar co-ordinates 5, . —4 Y, (Your answer must be negative.)
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[g] The point with polar co-ordinates (—5, —*Z) lies in quadrant *‘%" [
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Convert the polar equation 7~ = c0S 26 to rectangular form.
Simplify your answer so that there are no radicals, complex fractions, fractional exponents nor negative exponents.
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Find the foci, and equations of the asymptotes of the hyperbola x?-2y> —6x-16y—-17=0.

(x* —6x)—2(y* +8y) =17

2 —6x+9)-2(y* +8y+16)=17+9-32
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SCORE: /5PTS

?=3+6=9 = c=3 FOCT: (3,-4+3)=3,-7),(3, -1 @
L__________,,..__J

slopes of asymptotes = i\/——zt = i‘\/% = i_\/Zz ASYMPTOTES: y+4 = i—?(x -3)
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ALTERNATE SOLUTION | OV @ 1= YOU EOReT? + i
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